==
N & 0l & AF & E A A
20218 & =04k LEHSIH sYIlsdH
SN SYISUE
M SotsPdB WAL
Sl sHAWAAS (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=gJ|l=HdH 68,302,845 60,402, 151 7,900,694
= 3,940,014
s 195,000
J| 14,928,296
= 4,913,958
s 44,325,577
SolsdZHAL S 39,318,506 35,016,577 4,301,929
= 1,411,086
J| 13,010,228
< 2,496,616
i 22,400,576
sH3YHAG 6,961,200 6,036,972 924,228
= 20,550
< 64,563
s 6,876,087
SYAULSEOHH 6,725,440 5,701,785 1,023,655
101 @14l 55,440 29,490 25,950
M4 JI12ZHZEXNSES 55,440 24,000 31,440
Oz (B HLE)
2,310,000 *2H 1200 & 55,440
201 Let24d] 165,030 183,335 A 18,305
01 AtR 2 el 11,646 12,972 ~1,326
OdRAJ A 70,0003 +33F +23| 4,620
OsZ3xzdE=2HH 66,000 =114 726
OLSAEEDM M 10,0002 902 900
Osglas:sEs & usSisRre=
1,000& *2,7002 *23 5,400
02 =224l 153,384 170,363 216,979
ORERS 380& *1,835&8 128 8,368
ON3Ra 34,6503 100+ 12& 4,158
OSHM3ER2(35T) 38,2503 x63| & +12& 2,754
OgrE2teldI (&I, & AHZ )
306,000 x3&5+128 11,016
OANE™LUEHA(EI],AB) 900,0008 x2= 1,800
OHXIIANEZ(HAR402)  6,300,000& =128 75,600
OM=TAIEZ2(HAI1IHA)  360,000& x12€ 4,320
OF A LA 225,000& x63| 1,350
O XS XA (14TH) 126,000 = 14CH 1,764
OXNSAEEZ (14U0) 450,000& = 14H 6,300
O3l 2 DMSHLAUS(SIUH)
9203 *194 *2CH 452 1,574
OsJHREEHY (FIUH)
9203 *154 *2CH*40 1,104
OEZIMNE2LZ(HAL) 176,000& »23| 352
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M SYIISHE
B 2asAAMBAL
Crel: seE MY (el @)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
ostgdese = 21,580& *120H *23] 518
OAHAESXHI(HAF, A4=2) 2,000& *3,060m 6,120
O Xt &k Bt 21,060
—SE (8 . 3¢L) 2,700,000& =2CH 5,400
- SE8(58,83R) 1,350,000& *2CH 2,700
—sl2(a8 . d31) 1,620,0002 *8CH 12,960
O=sgETAMNYZANAHSFIE >
435,500& 120 & 5,226
202 04| 10,080 11,760 A 1,680
01 2L Y| 10,080 11,760 A 1,680
OsgdEMALRFA 35,0003 6H x4 x123] 10,080
203 &R =&H| 5,200 5,200 0
03 A =X R =XH| 5,200 5,200 0
Os3gesz 3,000,000& 3,000
OsdFLMAMIEFA 2,200,000& 2,200
206 M = 8l 1,800 2,000 A 200
01 & bl 1,800 2,000 A 200
OFANF=HE=SHN S LA 180, 000& *2& x53] 1,800
301 dEtE ™M= 5,601,800 4,622,000 979,800
09 SHALAHIXI &= 1,800 2,000 A 200
OsdAN#HIN=HY 24 45,000& *20Y *23| 1,800
12 JIEtE &2 5,600,000 4,620,000 980,000
Osgoladgot =X
800,000& *7,000= Jt 5,600,000
303 A2 4,000 5,000 A 1,000
01 ZAaZ 4,000 5,000 A 1,000
OsgABRIAHAMFUS A
4,000,000& =14] 4,000
306 EH = 138,000 138,000 0
01 &9 = 138,000 138,000 0
OsHEdEI2xH 138,000, 000& * 14 138,000
307 QI2t0| ™ 732,690 693,000 39,690
02 DI2HE AAIEE X 5,040 0 5,040
OzxllsgI3I N NE XA
3,000, 000& *3H x56% 5,040
08 OIXtEXNZ 727,650 693,000 34,650
O=g€ X201 XA & A
48,510,000, 000& *3%*50% 727,650
401 AIEHIL 20| 10,800 12,000 A 1,200
01 Al& Bl 10,800 12,000 A 1,200




AN sg€II=4dH
HE: SasAZBALS
Sl sHAWAAS (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANdSFIIHNEFTZ 5,400,000& 23] 10,800
405 TtHabF S| 600 0 600
01 AL EFSHSHI 600 0 600
OMEEHAL T 300, 000& *2H 600
SHER0IX2(01) 15,120 47,520 A 32,400
< 4,536
e 10,584
301 LPEXZ 15,120 47,520 A 32,400
= 4,536
s 10,584
12 JIEE4d =3 15,120 47,520 A 32,400
OsHIE*0IX& 6,300,000 »3H x80% 15,120
< 4,536
s 10,584
ZE0IURNSNHASSEXA 8,000 8,000 0
< 2,400
[ia 5,600
402 RI2HXt20l ™ 8,000 8,000 0
= 2,400
[ia 5,600
02 It 2 AL EZ (OIS ) 8,000 8,000 0
OZE0|IUN=sHAESARE
10,000, 000& = 1JH 2= «80% 8,000
< 2,400
i 5,600
SHESSOH0ISSHEHSI XN 41,100 21,000 20,100
= 20,550
< 6,165
s 14,385
307 21201 A 41,100 21,000 20,100
= 20,550
< 6,165
[ia 14,385
11T AL S XA E =X 41,100 21,000 20,100
O=sE3500l=sdHXA
13,700,000 *30H A 41,100
= 20,550
< 6,165
[ia 14,385
SYQUHE N EE XA 105,540 105,540 0
< 31,662
[ia 73,878
301 LA F 105,540 105,540 0
< 31,662
[ia 73,878
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2N
X ZH -
L= B

el

=BIER=
S AL
EERTEES

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
12 JIEtE2 A= 105,540 105,540 0
OsgolotdEs 2 X 527,700,000& *20% 105,540
= 31,662
= 73,878
HEsHHEHI2H XA 66,000 60,000 6,000
= 19,800
= 46,200
307 QI2t0| ™ 66,000 60,000 6,000
= 19,800
= 46,200
02 AI2tAAMAIE E =X 66,000 60,000 6,000
OO0 & 520l =t 2 X X 2
150, 000 x5502 *80% 66,000
= 19,800
= 46,200
SHMALD)|EBLE = 26,380,026 22,092,794 4,287,232
= 272,489
J| 12,729,327
& 1,811,416
o 11,566,794
AMeASMAMAUAST] A 1,307,142 1,619,417 N312,275
101 2121 H] 33,000 30,237 2,763
04 JI2tHIZ22NEE S 33,000 30,237 2,763
OTGHIIGH A E=HE IO 2 5= 33,000
—olgel 200,000 *10H 5 x33] 30,000
—AEE = 30,000,000& *10% 3,000
201 et 9| 3,582 3,740 A 158
01 AR 22l ] 3,582 3,740 A 158
O=sSMoHsIHE AL & A Al
200¥ *1,8000H *x2= 720
OFFA=MHIOXZAI &£ Z2Z2HF0I0HY 2SN
Al 100 #2, 7000 x2= 540
OZ23HI=0I=3MHegEE2d = 66,000 90K 594
OSATMHNSY U T2 S0ID0HY2SSA
8,000 x4H x54 1,728
202 04| 7,280 7,840 A 560
01 2Ll 7,280 7,840 A 560
Ositge=4a 35,000& *4H x4 2! x133] 7,280
206 M = dl 29,000 32,000 A 3,000
01 X2 I 29,000 32,000 A 3,000
OZ22HIF0|2(EH)ZHY
10,000 =2, 3000H 23,000
OZ2HIF0I2MY(Ag)ZHY
600 «10,0000H 6,000
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C HE =BT
B 2asAA WAL
SRl SYMMDIBIES CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
301 YBFHD 6,880 8,200 A1,320
EENTEEE 6,880 8,200 A1,320
O 25| & & 0§ 5] S & DHRH0f bl
50,0002 *20 *43] 4,000
OSELLSIIHONZA 8,008 +902 x4 2,880
402 912HTH 2 0] & 1,227,400 1,537,400 £310,000
01 QIR 2 A R (XA TR ) 1,227,400 1,537,400 310,000
OB TH B & Ot s X XU X) 323,650
— BT S A E X 2
180,000 *2, 360na*50% 212,400
—HIISASAH (SXAH)HIEX &
500, 0002l *400hax50% 100,000
—HEYHUC YN ST
50,0002 *150ha*50% 1,250
OHBBSEHS AL (=20])
600, 0002 %2, 000ha*50% 600,000
O TH bl &5 0+ S B 01 2 X1 2
5,000,000 *30CH *50% 75,000
O XA b 5 b X X1 & 228,750
- LRV ED TP
30,0002 *4, 5008 A x25% 33,750
— 26T B 5 O & T K| 2
1, 1002 150, 0000H *50% 82,500
—ANYSEHBLHN
50,0002 3,000 *50% 75,000
~ IBELTH LT SN2 X 7R 2
50,0002 +3, 0008 A x25% 37,500
eI 40,900 4,100 36,800
2 40,900
201 Yer2 | 2,300 1,100 1,200
2 2,300
01 AbR 22t 2,300 1,100 1,200
OgzBASERY 1,500,000 *14} 1,500
2 1,500
OFSAZHYBHSA 80008 +2% +502 800
2 800
202 01t 1,600 3,000 A1,400
= 1,600
01 =L o1 bl 1,600 3,000 A1,400
OBL Y 22l 40,0002 +22 %202 1,600
2 1,600
206 H 2 bl 37,000 0 37,000
2 37,000
01 M2 bl 37,000 0 37,000
OBSLYINBIZUTY  37,000,0002 14! 37,000
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2N
X ZH -
L= B

el

z

o2 @
Jor g

S

02 M
0X I:

O OfT O
9 o 19
tol

0 O
Of 0

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| = 37,000
HEQLs XA 136,000 136,500 A 500
< 14,550
s 121,450
402 2I2H X201 M 136,000 136,500 A 500
= 14,550
s 121,450
02 QI E2AISEZ (OIS ) 136,000 136,500 A 500
OHsZ &Ml 24 XA 150, 000 & *500ha*50% 37,500
< 11,250
2 26,250
OMS DX SRR (U £IH2)
150,000& =1, 100ha*50% 82,500
Ol HERIFAEXR
2,000, 000& *6IH 2~ *50% 6,000
< 1,800
s 4,200
OUE HSLTIANEXND (Y L)
2,000, 000& *2JH 2~ *50% 2,000
OA8 HIRIZHAEXD
1,000, 000& *109H 2 x50% 5,000
< 1,500
2 3,500
028 HSRTIHEX (R FIHE)
1,000, 000 & *6IH 2 x50% 3,000
Z2ABHEAZIE N 33,170 35,530 A 2,360
= 16,585
< 4,976
e 11,609
301 LEEAS 33,170 35,530 A 2,360
2 16,585
< 4,976
i 11,609
12 JIEE4 3 33,170 35,530 A 2,360
OFZ T S-RSESES PNR==PN | 1,700,000& %19.5115ha 33,170
2 16,585
< 4,976
s 11,609
sHE=MHHEES 2K 11,283,690 11,453,400 A 169,710
= 1,651,954
i 9,631,736
301 LeBAF 11,283,690 11,453,400 A 169,710
< 1,651,954
[ia 9,631,736
12 JIEtE& = 11,283,690 11,453,400 A 169,710
O=sZEMH2E 2 XA 15,643,504,000& «42% 6,570,272
< 1,651,954
i 4,918,318
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SN =TS HE
HE: SasAZBALS
SO SHMADPE S EERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OsZsMil 2SN (ZHIFIHE)
4,713,418,000& 14 4,713,418
st FHIXE 35,000 36,000 1,000
= 10,500
[Ea 24,500
206 M =8l 35,000 36,000 21,000
S 10,500
[Ea 24,500
01 M=z bl 35,000 36,000 21,000
Osotddd X& 50,000& 700K E 35,000
= 10,500
= 24,500
EH TH BH &4 =4 o K| & A 51,500 86,500 A35,000
= 15,450
s 36,050
402 12t Xt=01 & 51,500 86,500 A 35,000
= 15,450
s 36,050
02 PTG 2AEER(0IXMTHSA) 51,500 86,500 35,000
O==2AdXJIXNE 10,000, 0003 *4LH *50% 20,000
= 6,000
[Ea 14,000
OsI2ELEINXNEH 3,000, 000% *6CH «50% 9,000
= 2,700
= 6,300
OZAA=IIXE 3,000, 000& =4CH «50% 6,000
S 1,800
[Ea 4,200
OS2I I 2 MAEIIXA
2,500,000& =6CH «50% 7,500
< 2,250
[Ea 5,250
OsgE RALZERXNZE 3,000, 000% *6CH «50% 9,000
& 2,700
s 6,300
ANENSEMIXE 7,000 11,200 A 4,200
< 2,100
= 4,900
402 212t Xt=01 & 7,000 11,200 4,200
S 2,100
= 4,900
02 QA 2AMAEE(0IXTHE) 7,000 11,200 A 4,200
OES==ME X S atH A A
1,000, 000& *10ha*70% 7,000
& 2,100
= 4,900
SELAMUFENZAE 64,872 139,747 ANT4,875




2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
101 14 Hl 8,372 8,247 125
04 JIZHHZ22XREES 8,372 8,247 125
OA=QAHEBIZ2 TS AH|
69,7603 x2H 10 61 = 8,372
301 LEMZ 38,000 38,000 0
09 SALAHIX A S 38,000 38,000 0
OA=QANEIEZNES 3N
300,000& x100H 30,000
OLU=IeAHEB2Z2RE 2,000,000& 43 8,000
307 glz2+ol & 18,500 93,500 AT75,000
02 It AMAMHEE 13,500 88,500 AT75,000
OAIZUAHEZZNAMTMEE S
45,0002 100 304 2 13,500
05 212t E = 5,000 5,000 0
OAIUAHEIZZ AL LEY
5,000,000& » 14 5,000
MAMASTEENE=XE 7,200 7,200 0
= 2,160
e 5,040
307 g1+l & 7,200 7,200 0
< 2,160
s 5,040
02 It HAHEE 7,200 7,200 0
Of&ds 32X EsXE
6,000& *100H 1201 & 7,200
< 2,160
i 5,040
= Mol Il ol = 2 I X & 50,000 100,000 A 50,000
302 Ol THoH E&F = 50,000 100,000 A50,000
02 QIZHITHOH R EFESE N = 50,000 100,000 A 50,000
O=MHHMHXAS 500,000 x100ha 50,000
MMAMATE=EZS M AI2 218,755 377,400 A 158,645
= 175,004
< 13,125
e 30,626
301 LPEXSF 218,755 377,400 A 158,645
= 175,004
< 13,125
e 30,626
12 JIE 243 218,755 377,400 A 158,645
ONMMIE =EZS MBI XI&
3,265,000& x67ha 218,755
= 175,004
< 13,125




2N
X ZH -
L= B

el

z

o2 @
Jor g

S

02 M
0X I:

O OfT O
9 o 19
tol

0 O
Of 0

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 30,626
HESRAY 15,750 42,000 A 26,250
< 4,725
s 11,025
301 LEHZ 15,750 42,000 A 26,250
< 4,725
s 11,025
12 JIEBHE4 = 15,750 42,000 A 26,250
O & EJAAY 350,000 *45ha 15,750
< 4,725
[ia 11,025
EASEL (OIS0 A Y 25,000 0 25,000
< 3,360
i 21,640
402 RIZEX20l A 25,000 0 25,000
< 3,360
e 21,640
02 LA TEALEZ(0IETHR) 25,000 0 25,000
OEAs=d(Ots)Ildiuy 2+=H(82€43)
| & 1,000,000 & »23CH x50% 11,500
< 3,360
s 8,140
OLNSEH(IS)IBH0Y 24T (283)
AN (ZBIF=0HE) 1,000, 000& »27 CH x50% 13,500
O 73 2 B i i s 0 CH & s 01 I KT & 60,000 120,000 60,000
< 18,000
fia 42,000
402 RI2EX20| A 60,000 120,000 A 60,000
< 18,000
e 42,000
02 LA TEALEZ(0IETHR) 60,000 120,000 A 60,000
OUA2H SIS =0 H X &
50,000, 000& »3CH x40% 60,000
< 18,000
e 42,000
HEQLELIX 101,500 0 101,500
< 30,450
i 71,050
402 DI2H X 20| & 101,500 0 101,500
< 30,450
s 71,050
02 QI EAIL EZ (01X ) 101,500 0 101,500
048 HEQZHAXIX &
42,000,000& » 10 2= *50% 21,000
< 6,300
e 14,700
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2N
X ZH -
L= B

el

SIS HIE
SosUBHAL
SolMAD| U E S

SA-EY- S (SH) - MBAY - B O &t 04 il 2
OUE H=stELEXXE
20,000,000 <27} 4 *50% 20,000
= 6,000
= 14,000
O28 H=ZLEXXA
11,000, 0003 = 1JH 2 *50% 5,500
= 1,650
= 3,850
OUE HEI3EFMNES
30,000,000& *37H 2 *50% 45,000
< 13,500
= 31,500
OL28 HEI3EFMNES
5,000,000 =4 JH 2 x50% 10,000
= 3,000
= 7,000
SUASAYF IS HALS 2| 55,400 55,400
| 55,400
101 14 dl 30,695 30,695
| 30,695
M4 II2HZ2Z2NSES 30,695 30,695
OBUTEH HEREQIS A
69,7603 x 1004 S &H 40 27,904
| 27,904
OIS xE AHWEE= 27,904,000 x10% 2,791
| 2,791
201 L2l 20,205 20,205
| 20,205
01 At 22|l 20,205 20,205
OZ2AdA=N A2 50,000& x60H 3,000
| 3,000
OFY ¥ 222X SAH
8,000 30 25 6,000
| 6,000
OMNRESFLS 22| 11,205,000& 14 11,205
| 11,205
202 o4dl 4,500 4,500
| 4,500
01 =2LHAO Y] 4,500 4,500
OZ2dX=MAME bl 30,0003 x3H 50 4,500
J| 4,500
SASHUEFZEXEAN 12,670,000 12,670,000
J| 12,670,000
301 LENZ 12,670,000 12,670,000
| 12,670,000
12 J|EtE 43 12,670,000 12,670,000




AN sg€II=4dH
HE: SasAZBALS
SO SHMADPE S EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSYESHXHNESNA 1,524,669& *8,310ha 12,670,000
J| 12,670,000
=22 IX=H 3,927 0 3,927
J| 3,927
301 LA S 3,927 0 3,927
J| 3,927
12 JIE24 3 3,927 0 3,927
O=g2EX=e=N& 490,875& x8ha 3,927
J| 3,927
SRSTHYNEE(LH)IIXE 220 0 220
= 66
s 154
402 RI2FXt20l M 220 0 220
= 66
[ia 154
02 (I XH2AILE X (01 ETHR) 220 0 220
OsZS0loieX SHAZEIIXH
55,000 »8CH x50% 220
< 66
s 154
SEUESHEH2 S XA 80,000 0 80,000
= 40,000
= 40,000
307 21201 A 80,000 0 80,000
= 40,000
[ia 40,000
02 It S AIHE L 80,000 0 80,000
OsEUESHEHSZ XA 80,000,000 »14 80,000
= 40,000
e 40,000
SEUH N AL XA 133,000 0 133,000
< 40,000
i 93,000
307 glz2tol & 133,000 0 133,000
< 40,000
s 93,000
02 IZtE M AHE X 133,000 0 133,000
OsEgaXJdHX& 133,000, 000& 14! 133,000
< 40,000
[ia 93,000
=AML AI AT | BHELE 1,979,498 2,827,439 847,941
J| 93,000
< 154,485
e 1,732,013
SN ES 1,371,548 1,654,970 N 283,422




2N
X ZH -
L= B

el

S

b olT o
o o

12 Of

0z 19 W
> oY =
S m
T g
Jlv oY
o tob

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
201 Bt 19,788 11,840 7,948
01 AP 22| H| 10,788 11,840 A 1,052

OFNMESsE=HE 2,250,000 x2= 4,500
OFM)|=ns2LAIE 270,000& =103/ 2,700
OZZIHEH Y 100, 000& *2[H *33] 600
OFMANBZ=AN=BSHLHE 66,0003 184 1,188
OSMEHEZIUI &I IIZS2sELdN2
600,000 *33| 1,800
02 2% H| 9,000 0 9,000
Osltp=gsddae|g2=4a 9,000,000 9,000
202 o4l 5,040 5,880 A 840
01 2Lhottl 5,040 5,880 £840
OFMZHAYSIAREZ
35,000& »3H x4 % 123] 5,040
206 M = H| 600 1,200 A 600
01 X2 Hl 600 1,200 A 600
Oxg222I|372¢ 6002 1, 0004 600
301 et M= 6,000 10,800 A4 ,800
09 #HAIAHI XIS 2 1,500 4,000 A 2,500
OSAANHAIGSE SN SEATTOH B A
50,000& 15 23| 1,500
12 J|EtE A= 4,500 6,800 A 2,300
OXZRMAXMAZS X 5,000 x1L*900H 4,500
402 BI2H X 20| M 1,340,120 1,625,250 A 285,130
01 SIZEXIEANY EXR (MM M) 1,340,120 1,625,250 A 285,130
OFMsIISHI XN 4,000,000 x5 *x50% 10,000
OB ANS 02N & AL
611,500, 000 * 1Al «50% 305,750
Otz It AL SEAX ALY
420,000,000 1Al x50% 210,000
OStRINSFSMAX AL 749,900,000 » 1Al 749,900
OUSAM I MA UG ALY
113,340,000 14! *50% 56,670
O AHMAUZAIY 65,000 x240 XL x50% 7,800
StNRFSAAMY 137,000 118,479 18,521
J| 82,200
&< 16,440
= 38,360
301 et A= 137,000 118,479 18,521
J| 82,200
& 16,440
= 38,360
12 JIEtE2 A= 137,000 118,479 18,521
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SN =TS HE
HE: SasAZBALS
Sol: BAYYAI|BES CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 2,000 4,000 A 2,000
== 600
= 1,400
12 JIEtE2 A= 2,000 4,000 A 2,000
OBHMlsIOIAIE & =2 X & 400,000< *5ha 2,000
= 600
= 1,400
402 SI2FXHE0| & 15,000 24,000 29,000
= 4,500
= 10,500
02 X2 A E X (0| X THS) 15,000 24,000 A9,000
OXZASMAZH XA 30,000, 000& = 1CH x50% 15,000
& 4,500
= 10,500
TANESMMASESIFAL XA 25,200 27,720 N2,520
J| 10,800
o= 4,320
= 10,080
307 2Iz2t0| & 25,200 27,720 N2,520
J| 10,800
o 4,320
= 10,080
02 DIZFEAAIRE E X 25,200 27,720 N2,520
OXMNEMMEESTP2UXSE
120, 000& *300ha*70% 25,200
J| 10,800
& 4,320
= 10,080
ZdHstEH XA 15,000 60,000 A 45,000
= 4,500
= 10,500
402 SI2vXH=20| ™ 15,000 60,000 A 45,000
o 4,500
= 10,500
02 QIZEXIEAIS E X (0| XM THL) 15,000 60,000 A 45,000
OFMSIEEME &Y A&
30,000, 000& = 1CH x50% 15,000
== 4,500
= 10,500
REHZSAX R AL 21,850 20,600 1,250
o= 6,555
= 15,295
402 SI2v 20| & 21,850 20,600 1,250
& 6,555
= 15,295
02 QIZtXIE A E X (0| XM THH) 21,850 20,600 1,250




M SYIISHE
B 2asAAMBAL
CHR: SAIHMALD|BLE S (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OREBHAZAMEASH XA  700,000& *155 *70% 7,350
& 2,205
iy 5,145
OFSsHAFHZH X 20, 0002 490l *50% 4,900
< 1,470
= 3,430
ONEXHY MAAIELXKA(0IMZD])
4,000, 000& *12]*40% 1,600
== 480
2 1,120
ODEH Y] 4 A& X2 (2] A& U 2 ot 5
H2ZH) 20,000,000 * 141 «40% 8,000
< 2,400
= 5,600
AS K& ALY 82,400 74,800 7,600
= 24,720
= 57,680
402 SI2F X201 M 82,400 74,800 7,600
& 24,720
= 57,680
02 BIZEXIE2AMYEX (0| THH) 82,400 74,800 7,600
OgszMAS (BLHE)
8,000 %6, 000kg*50% 24,000
= 7,200
2 16,800
Og=BHAYSH(WHLII)
2,200,000& *2CH *50% 2,200
= 660
= 1,540
OYsHHALF(YESMEMNSHED)
6,000,000 *1JH 2 x50% 3,000
== 900
= 2,100
OY==HMH AU (L2 IHHHEE)
30, 000& *1,400IH *50% 21,000
= 6,300
= 14,700
OY=SHMHAUJ(ESLESLEHA)
400, 000& *602 *80% 19,200
== 5,760
= 13,440
OY==HMAAG(HEMI|II2)
13,000 *2,0007H *50% 13,000
== 3,900
= 9,100
EMSIHA S 56,960 0 56,960
= 17,088
= 39,872
402 SI2F X201 M 56,960 0 56,960




z

1z 0¥ 2

2N
X ZH -
L= B

el

S

b olT o
o o
0z 12 M
S

T g
Jlv oY
o tob
m

T

[pad

0

12 Of

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

17,088
39,872

M

02 212t Xt= SX(0IETHE) 56,960 0 56,960
A X ZAE 55,0003 #1205 *60% ,960

,188
772
,000

,700
,300

UL

OLHXI K& H AT 15,0003 *1,0005 *60%

DN O N = W

EURLY

OFAMTHH S S 23S X

250, 0003 *407H 50% 5,000
1,500
,500

EURLY
w

OF AN 22| ECCTVA & AL

2,000, 000& *5CH *50% 5,000
1,500
,500

EURLY
w

O8AAMZES00IHsS+II K&
1,000, 000& *6CH «50% 3,000

900
2,100
OstAEUHs2017] 20,000, 0003 » 14! x50% 10,000
3,000
7,000

M

EUNLY

ONEZLILX(SASS M)

10,000, 0002 *2IH 2= x50% 10,000
3,000
7,000

EUNL

ONEZLUNLX (SAIANESZEINRH)
300, 000& »20H *50% 3,000

900
2,100

EUNL

ONEZLTNL X (AMEPAEXZALL)

16,000, 0003 » 14! x50% 8,000
2,400
5,600

EUNL

=T EE S X ALY 40,000 56,000 A 16,000
12,000
28,000

EUNE

402 212t X201 & 40,000 56,000 A 16,000

12,000
28,000

Mo

02 (IR 2AISLE X (01 ETHR) 40,000 56,000 216,000
[=PNR-] 4,000,000& *40= *«25% 40,000

12,000
28,000

M H

=X A 18,000 28,800 A 10,800

5,400
12,600

M




A sgI=HH
HE: SasAZBALS
Sol: BAYYAI|BES CERED
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
402 SI2FXHE0| M 18,000 28,800 A 10,800
== 5,400
= 12,600
02 CIZEXIE A EX (0| XM THL) 18,000 28,800 A 10,800
OSHI2E=UHAMAY 600,000 *605 *50% 18,000
= 5,400
= 12,600
kAKX & A 81,800 89,050 ANT,250
= 24,540
= 57,260
402 SI2FXHE0| & 81,800 89,050 NT,250
= 24,540
= 57,260
02 BIZtXIEANYEX(0OIETHH) 81,800 89,050 ANT,250
OLHBMALUS (HSHHEXH)
80! *1,920,000H *50% 76,800
& 23,040
= 53,760
OLHAMA LS} (SHAMZEXH)
5,000 x2, 00074 *50% 5,000
& 1,500
= 3,500
A2 oS K& 88,950 0 88,950
= 26,685
= 62,265
402 IV XHE0| & 88,950 0 88,950
= 26,685
= 62,265
02 BIZtXIEANYEX(0IETHH) 88,950 0 88,950
OHAUSI A EIIM X
30,000 5,930 x50% 88,950
& 26,685
= 62,265
sgtgd=atae X & 2,284,003 2,200,773 83,230
= 688,547
J| 187,901
& 294 492
= 1,113,063
s =N 398,562 474,598 NT76,036
101 Q124 H| 114,048 114,048 0
04 JI2ZtHIZ2 2 NEE S 114,048 114,048 0
OJIsg g xaelee 72 000) 12430 x12& 25,920
OHEASAIEQEL 72 000 *x3H 30 «12& 77,760
(@I E=R=:N=] 103,680,000 *10% 10,368
201 et | 69,014 76,520 AT ,506




SN =TS HE
HE: SasAZBALS
Sl JIEY USRI CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 40,934 45,320 N 4,386
OAR 22 ES 260,000 =8I 2,080
ONEYAELS(H4AS)HH
66,000 =454 2,970
ON=EEALISH 9,000& x700% 6,300
OZEYALANSL YR
400,000 x1H «12& 4,800
OJ=¢A =23 g el 8,000 «4H 142 «8 & 3,584
ONdSHHAMSHSEHYXZ 400,000& 14 5,600
OFGEHA=HHE X el 300,000& 505 15,000
O ussdA= 300,000& =23l 600
02 =24l 28,080 31,200 A 3,120
ONEL AU KA H (22l LG6PS)
180,000 =4[l 43| 2,880
OHEBASANE 2 SELZSZRS
1,350,000& 122 16,200
ONFASANE & OIs=2AEEEI KX
4,500,000& *24 9,000
202 04l 8,820 10,080 A 1,260
01 = LH 4 di 8,820 10,080 A 1,260
OJt=g ol 2 =701 bl
35,0003 *4H x4 103 5,600
OZSLIA=AAL =N
20,0003 1 +72 %123 1,680
OANZIHH & SR04
35,0003 x1H x4+ 113 1,540
206 = Hl 56,080 65,200 A9,120
01 MHZ 4l 56,080 65,200 29,120
OJ=HSEULHAZ 22,7002 +6,000% 16,200
OsdgEaA=SAET LY 18,000& = 1,000kg 18,000
RIsS=SESHRIINMTL 500,000 9 4,500
ONESYIYAHZLAL2HII MUY
18,000& 600K 10,800
OJsgdedd s 8,000& 350 2,800
OMEANZEFERY 315& 12,0004 3,780
301 LEH = 50,900 51,000 A 100
12 J|EtE& = 50,900 51,000 A 100
OFMAHMESA=s & 4SS X
5,000& *5,0005 *23| 50,000
ORJIsEd g, Xzl 180,000 »524 900
402 RIZEX20| A 99,700 17,750 81,950
01 2I2E U EAS B (KM ) 99,700 17,750 81,950
ON=SAZ S SEOIMX & A
4,000& *1,000kg*4 3] *50% 8,000

_18_




M SYIISHE
B 2asAAMBAL
Sl DS YU S AR K (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OX=E AU L HARAXH
2,000& *20,0005 *50% 20,000
OHXIFSHMALXA 1,000& *40,0005 *50% 20,000
OAFHNZELZ M X E A
50,0003 x40 X x355 *50% 35,000
OLAESHERIIXNE ALY
700,000 = 12CH *50% 4,200
OFMEIHASALT AL
5,000,000& *54! x50% 12,500
L2SANEX ALY 57,000 94,000 A 37,000
< 17,100
e 39,900
101 @124 dl 45,000 54,000 A 9,000
< 13,500
e 31,500
4 D12t ZE2XREES 45,000 54,000 A9,000
OHBASANES2IEARY 79,3653 +32H 189 45,000
< 13,500
s 31,500
402 RI2EX 20| N 12,000 14,000 A 2,000
< 3,600
= 8,400
02 QI 2 A EZ(OI XM THE) 12,000 14,000 A 2,000
OASANEXNIAMNG (ZEAZ)
5,000,000& =4CH x60% 12,000
< 3,600
s 8,400
SsEHNH2I N 204,922 204,368 554
J| 102,461
< 30,738
s 71,723
307 21201 A 204,922 204,368 554
J| 102,461
= 30,738
[ia 71,723
02 It HAHEL 204,922 204,368 554
O3sgHMet2Z I (e12dl)
26,140,000& =40H Bt 104,560
J| 52,280
< 15,684
[ia 36,596
OSSYHH2IH (2LHl)
25,090,500 =404 Bt 100,362
J| 50,181
< 15,054
s 35,127
ERSERNa=PNE] 250,000 250,000 0
= 200,000




AN sg€II=4dH
g Ssd3Y=L 5
Sl JIEY USRI CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 25,000
s 25,000
301 LEAZ 250,000 250,000 0
= 200,000
= 25,000
s 25,000
12 JIE24= 250,000 250,000 0
AMEBASNA 250,000,000 =14l 250,000
= 200,000
< 25,000
s 25,000
SUTMZEEAN 23,820 23,820 0
= 11,910
< 3,573
[ia 8,337
201 Let24d] 23,820 17,820 6,000
= 11,910
< 3,573
s 8,337
01 At 22l 6,000 0 6,000
OGPSHZIIMA IS SHARS
60,000 »100CH 6,000
= 3,000
< 900
s 2,100
02 =24l 17,820 17,820 0
OFMXNESENS XS
9,900% *300CH =123 *50% 17,820
= 8,910
< 2,673
s 6,237
r2sit2g el X 42,000 60,000 A 18,000
= 21,000
< 6,300
s 14,700
402 RI2HXt20l 42,000 60,000 218,000
= 21,000
< 6,300
s 14,700
02 2IZt 2 AL EZ (01X TH ) 42,000 60,000 A 18,000
OJdtesit2g2el X
10,000, 000 *7JH 2 x60% 42,000
= 21,000
< 6,300
[ia 14,700
IIEMSEUEASIL XA 185,349 178,442 6,907
= 109,585
< 22,728
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2AM: =gl
XM =2
(=R B o

el pEe

K& (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

53,036

206 M= Hl 135,327 128,330 6,997
84,574
16,225
35,528

MR

01 M= dl 135,327 128,330 6,997
OEYAAFAAHI 9,021,800& *15& 135,327
84,574

15,225
35,528

Mo

402 2I2tXE201 & 50,022 50,112 290
25,011
7,503
17,508

U RN

02 (I 2AILE X (01 ETHR) 50,022 50,112 A 90
N

2,000 41,6855 *60% 50,022
25,011

7,503
17,508

MW

S
]
A
0F
=
0z
>
it

129,233 0 129,233

30,850
98,383

M

206 M= Hl 36,933 0 36,933

11,080
25,853

M

REE] 36,933 0 36,933

OPHMASLARASAHZQ 20,0002 *540kg 10,800
3,240
7.560
ORMo S geat=209 10,0002 «630 6,300
1,890
4,410

M

Mo

OFMABAMNZESAEY A2EH Y

330& %60, 1005 19,833
5,950
13,883

Mo

301 LEIEN = 84,950 0 84,950

17,565
67,385

Mo

12 JIELE & 2 84,950 0 84,950

ONZLESA2H X 5,0002 *6, 4305 32,150
9,645
22,505
OB2o2gX 2 1,100, 0002 +22 * 1274 & 26,400
7,920
18,480

UL

EURE




= 910| & i Ef
SotsgI3 A 2UG
IEYY S AR K SHol E )
5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
SEFTPE=FEIE ES/EY
1,100,000 x2H 1200 & 26,400
402 SI2FXHE0| & 7,350 0 7,350
& 2,205
= 5,145
02 SIZEXIEAISEX (0| THL) 7,350 0 7,350
ORMAHAESAHTSFAIIX 2
350,000 *30CH *70% 7,350
= 2,205
= 5,145
SAIENIIFEEGH 33,930 66,766 N 32,836
= 10,179
= 23,751
206 T 24 33,930 66,766 132,836
= 10,179
= 23,751
01 X2 Hl 33,930 66,766 N 32,836
OZAJIEIISOS AR 5,488,0002+55 27,440
< 8,232
= 19,208
Ol2sIEESASHAA 27 ,500& *236kg 6,490
= 1,947
= 4,543
Hotsge2gxa 117,260 118,430 A1,170
= 27,060
= 18,942
= 71,258
301 et M= 117,260 118,430 A 1,170
= 27,060
o 18,942
= 71,258
12 JIEtE A= 117,260 118,430 A1,170
OAEBZAHZH)NE ™Y XX
10,000 *9,020% 90,200
= 27,060
= 18,942
= 44,198
OABZHHEHWE ™Y NI (Z2HIZ=IHR2)
3,000& %9,020% 27,060
otsSE2 Y0 A 47,803 93,610 A 45,807
= 13,674
= 34,129
206 M = dl 38,183 62,410 N4 227
= 11,454
= 26,729
01 =4l 38,183 62,410 N24,227
OtIs&dgoo X 6,967,800 5= 34,839

- 22 -




SN =TS HE
HE: SasAZBALS
Sl JIEY USRI CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,451
s 24,388
OSSO0 EARSHIER A 20,900& = 1604 3,344
< 1,003
s 2,341
301 LA F 9,620 31,200 A 21,580
< 2,220
[ia 7,400
12 JIEtE 43 9,620 31,200 221,580
OE=HdcH(ZH#H)HEEHHI 10,000 7405 7,400
S 2,220
2 5,180
OBz (2)HE 2R (2HI21E)
3,000& 7405 2,220
RIIsSESHHIZE 24,928 24,616 312
< 7,478
s 17,450
101 @14 dl 20,928 20,616 312
< 6,278
i 14,650
04 JIZHHZ2XRHEE S 20,928 20,616 312
SESIEEEE$-ElEX LI
69,7603 300 «1H 20,928
< 6,278
s 14,650
206 M= Hl 3,400 4,000 A 600
< 1,020
s 2,380
01 =4l 3,400 4,000 A 600
ORJII=sE2sdHI2IEEET Y
100,000& *34 4 3,400
< 1,020
s 2,380
405 XtatE SHI 600 0 600
< 180
[ia 420
01 HatE ESFH S 600 0 600
OdSAlA 600, 000& » 14 600
< 180
[ia 420
THSHLE S ALY 364,240 277,121 87,119
= 230,942
< 39,990
e 93,308
206 TH2 Ul 85,261 72,180 13,081
2 57,760
= 8,250

_23_




SN =TS HE
g Ssd3Y=L 5
Sl JSYY S AR K (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 19,251
01 =4l 85,261 72,180 13,081
OFMIHA A (AR A& HX,SA)
2,000& 37,8205 75,640
= 52,949
< 6,807
i 15,884

OFMIBHANEEAEY ASHH 2L

33081 %29, 1545 9,621
= 4,811
< 1,443
= 3,367
301 YBHRED 110,518 95,440 15,078
= 55,259
< 16,578
z 38,681
12J1E2 A3 110,518 95,440 15,078
OT RIS HAZEASH XA (A)
5,000 * 14,9505 74,750
= 37,375
< 11,213
= 26,162
OTRALHAZEASH XA (BA)
8,0008! *4,4715 35,768
= 17,884
< 5,365
z 12,519
402 IR =01 A 168,461 109,501 58,960
= 117,923
= 15,162
z 35,376
02 QIATH2AL 2 X (01 RN ) 168,461 109,501 58,960
OT MU ADUHINS (£, HX N sSIt)
2,0005 * 168,461 *50% 168,461
= 117,923
< 15,162
= 35,376
SNELSYLLSH SN 121,000 92,000 29,000
= 60,500
< 18, 150
z 42,350
101 21248 45,000 28,800 16,200
= 22,500
< 6,750
z 15,750
VBEFEEP =TS 45,000 28,800 16,200
ONBASANLUSHELSY S ARY
79,3658 +321 + 189 45,000
= 22,500
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2A: sgIIs4dH
Ha: 2asAML
S RS T L Nl CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o 17,808
dolEet2=sX& 120,000 30,000 90,000
J| 60,000
< 18,000
s 42,000
402 2I2HXHE01 M 120,000 30,000 90,000
J| 60,000
< 18,000
s 42,000
02 QI E2AE EZ (OIS ) 120,000 30,000 90,000
OJt=a s IJHCCTV Aolmetd XK
50,000, 000& *4JH 2= *60% 120,000
J| 60,000
< 18,000
fia 42,000
SRS 4E 43,196 35,872 7,324
< 12,959
s 30,237
307 gl2tol & 24,996 24,672 324
< 7,499
s 17,497
02 212t &AL 24,996 24,672 324
O=4E01H oI XA
2,083,000& x1Hx12J4 & 24,996
S 7,499
i 17,497
402 QI2H X201 M 18,200 11,200 7,000
< 5,460
s 12,740
02 BIZHAHZ ALY Ol M) 18,200 11,200 7,000
OFLERS M DAL
3,714, 2853 7 x70% 18,200
< 5,460
s 12,740
SN2 DAY 3,780 7,780 A 4,000
< 1,134
s 2,646
402 2I2H X201 M 3,780 3,780 0
< 1,134
s 2,646
02 QI 2 A EZ (O TH ) 3,780 3,780 0
O = &2 0FHACC HI X &
450,000& x12= *70% 3,780
< 1,134
s 2,646
AU HAAZH SKH 45,000 0 45,000
= 20,000

_26_




SN =TS HE
HE: SasAZBALS
Sl JSYY S AR K (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 6,000
s 19,000
405 XHoHF S HI 45,000 0 45,000
= 20,000
< 6,000
s 19,000
01 AL EZFH S 45,000 0 45,000
OIS EXH L 40,000,000 1CH 40,000
= 20,000
< 6,000
s 14,000
oY gAY (ZHIFIHE)
5,000,000 = 1CH 5,000
AESIHSEICIAEXXNE ALY 6,000 0 6,000
< 1,800
s 4,200
402 RI2HXt20l ™ 6,000 0 6,000
< 1,800
s 4,200
02 212t 2 AL EZ (OIS ) 6,000 0 6,000
OLEsISERIE X3 ALY
12,000, 0002 *1JH 2 x50% 6,000
< 1,800
[ia 4,200
HHAZ XA 15,000 0 15,000
= 7,500
< 2,250
[ia 5,250
402 RI2HR20l ™ 15,000 0 15,000
= 7,500
< 2,250
e 5,250
02 RIZt 2 AL EZ (OIS ) 15,000 0 15,000
OHtHEFI&XH 25,000,000& = 1CH x60% 15,000
= 7,500
< 2,250
s 5,250
S EH Mt 1,713,779 1,858,599 A 144,820
= 429,500
< 171,660
[ia 1,112,619
S H=z2 el 2 us 22,742 26,543 A 3,801
201 Let249] 7,978 10,143 A2,165
01 At 22/l 6,090 8,060 A 1,970
OsJIAH =3 =2l 6,090
— 22437 130,000 185 2,340
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A sgI=HH
HE: SasAZBALS
ol S TS 3 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o dE = HRE2
0Ofl &F 08
— S EU AP 200,000 x6H 23| 2,400
—SIAHAUDREHSXNES 135,000 = 10CH 1,350
02 E2=2=2%H| 1,888 2,083 A 195
OsJIHIN=REHHRANREFY 1,888
— g 1,360& x40L*9E #23| 980
—-&a3 1,260 x40L*9= x23| 908
206 M = dl 13,144 14,600 N 1,456
01 X2 H| 13,144 14,600 A 1,456
OsJlHl=3x2lfE7L 145,000& »60= 8,700
OsJIH=3 =223 101,000 x44= 4,444
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= 8,443
= 8,443
01 AP 22| H| 14,886 0 14,886
O AANARIES Y
248,1002 x12E +53| 14,886
2 7.443
= 7,443
02 2224 H| 2,000 0 2,000
OEx=TZAIA A& &H| K XIHI 500,000& *x4= 2,000
= 1,000
= 1,000
206 M = dl 10,000 0 10,000
= 5,000
= 5,000
01 X2 b 10,000 0 10,000
SECANSEUMETL
100,000& *10&x103] 10,000
= 5,000
= 5,000
DNEZHNAMAIEBIEXHS 4,991,711 5,903,124 A911,413
= 480,000
J| 660,000
= 498,697
= 3,353,014
DA MADEEE S 1,220,060 1,895,085 AB75,025
201 2Et24Hy| 9,460 9,920 A 460
01 AP 2t 2] H| 4,460 4,920 AN 460
OZZIHEHF Y 110,000 & 20 33l 660
Ol =nsY=sE=2 A 7,000 x4008 2,800
OAttE NS ol M 1,000& *1,0008 1,000
02 2%l 5,000 5,000 0
OMUFAXNANEZLEOS2IHIEE =2
5,000,000 *13| 5,000
202 044 11,400 12,700 A 1,300
01 2L I 11,400 12,700 A 1,300
O L2F=X NI 11,400
— WS EAR2E=X0H]
35,000& »4H x5 % 123] 8,400
— U HAHHSHEE SH|
20,000 *3H x50 3,000
301 et A =2 8,000 16,000 A 8,000
09 SHAIAHI X & 2 8,000 16,000 A 8,000
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A sgI=HH
HH: I - B2
Celr DEEBAMAIBEL (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Olxdlz=n=sxYEHIIg A XY 2 A
50,000& x40 43| 8,000
307 2iz2to| & 20,000 20,000 0
04 SIZ2ISHAAISH E & 20,000 0 20,000
OHEANBESZ S AL 20,000,000 13| 20,000
308 XNXIGHHM SO0l & 30,000 30,000 0
11 BI2SHUSE AN E AIS Y 30,000 30,000 0
OB SSABHES AL AEZT L (48 X})
30,000,000 x 1Al 30,000
402 SI2vXHE0| & 1,141,200 1,806,465 A\ 665,265
01 BIZtXIEANYE X (KM TH ) 1,141,200 1,806,465 A\ 665,265
ORI ESSEHSMAAT ZLHAHAIS
42 ,000,000< *3. 2ha*50% 67,200
O=SRHXFIoHE X Il Kb X & AFY
3,000,000 «10CH *50% 15,000
OMIUINIEAENEIBESAAE
7,000,000 «10CH *50% 35,000
OUF=NEENMNSIHIAEZS XN ALS
2,000,000 *50CH *50% 50,000
O HNHAE S| XFH X & AFS
5,000,000 *40ha*50% 100,000
OAUE==HXHHSHEAIEAIS
500,000 *100ha 50,000
OZ2ZYCAPI S H S AIE ALY
50,000,000& =10 A 50,000
ORI X AAY
10,000 *30, 0003 *50% 150,000
OAMBDNEENAMAMI=AHLE AIHAS
62,000, 000& *5JH0 A *50% 155,000
Ox=ZASATAANS 500, 000& *60ha*50% 15,000
OJI2dHsllssLEMSHETAIE AN
1,000, 000& *50ha 50,000
OSLYEHMNESKLAEHES A ALY
200, 000& *350ha*50% 35,000
O DA =AM SEA D XFHIH KIS AFS
500,000€ *1,260a*50% 315,000
OlE==2)2 2 A AIE 600,000 *30ha*50% 9,000
OJIZEHSUSAAE LI BXZLAE
25,000,000 *374 2~ *60% 45,000
WEAEAZAS 100,211 118,539 N 18,328
101 124 H| 58,181 71,057 N 12,876
04 JI2ZtHIZ22NEES 58,181 71,057 N 12,876
OM=ANEEZEMEBH22 02
69,760& x10Y x203| *33| 41,856
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AN sg€II=4dH
Bu: sod|elY - 22
S DFSENBAMAIIBIEY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SESEEEFE =L EE I
69,7603 *3H » 123 2,512
Ol=ZAHNSHEE AR 13,813
— BpaAAEHBHR IR
69,7602 x1H x180! 12,557
—UA=HAHHSUHEELEER
12,557,000& *10% 1,256
201 et 10,170 11,082 A912
01 At 22l 1,680 1,680 0
OZI=2HLHEAR 140,000& =123/ 1,680
02 =224l 8,490 9,402 A912
Of=ANEZESIHESY 6,690
— sJl A =& %Xl 180,000 55 *43| 3,600
— 3R 1,360 904 =63l 735
—-d% 1,260& %1804 =63l 1,361
-85 9203 %1804 =63l 994
OJI42=Zd =Xl 900, 000& *2CH 1,800
206 M= Hl 28,260 31,400 A 3,140
01 MHZ 4l 28,260 31,400 A 3,140
Ot=AEZZ =4I 28,260
— EZAHHTY 9,000 *300E x2J4 & 5,400
—HHE YR 5%
35,000 *14F «2JH 2~ 93| 8,820
—ELNEEEHHE Y
36,000 *2E *40E *304 & 8,640
—ZIF2H2IME Y
450,000 x4 F 23| 3,600
— A HUNEHE Y 200,000 x9& 1,800
401 Al HI K 201 I 3,600 4,000 A 400
1T A&l 3,600 4,000 A 400
OELHELH==2 FHI ZHI X
50,0003 *8A| 2t+9 3,600
DAMAYEZLZSENDNA 257,390 303,250 A 45,860
< 17,217
[ia 240,173
402 RI2HXt20l ™ 257,390 303,250 A 45,860
= 17,217
[ia 240,173
02 It 2 AL EZ(OI XM THS) 257,390 303,250 A 45,860
O MAHBLZLSEMDAA
35,3933 3,243 m" x50% 57,390
< 17,217
i 40,173
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M sellsdH
HE: sellaNY - 23
Sl DS EUAYADIEEY (22 &d)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
ORAMAHZLLSENMINA(ZHFIZ)
35,026. 1& *11,420m «50% 200,000
NEAMULAIZH 0K 305,500 400,000 A 94,500
< 91,650
[Ea 213,850
307 @lztol & 305,500 400,000 A 94,500
< 91,650
[Ea 213,850
02 (I BAAMHEE 305,500 400,000 A 94,500
OME AL DA Z 22 4041l X 2
8,000& *61, 1004} Xt *62.5% 305,500
S 91,650
= 213,850
DM AT I EFE & ALY 825,050 411,250 413,800
Jl 660,000
< 49,530
[Ea 115,520
403 AR SHHMS K201 H 825,050 411,250 413,800
Jl 660,000
S 49,530
[a 115,520
02 SIS0t U= AE AL 825,050 411,250 413,800
OBAHSMACHT I ¥ E AL
825,050,000& » 10K 2 825,050
Il 660,000
S 49,530
= 115,520
SHEMSMELLEX(FUEA) 332,500 350,000 A17,500
< 21,000
[Ea 311,500
402 QI K20l ® 332,500 350,000 A17,500
= 21,000
[a 311,500
02 Q=AML EE(0IATHE) 332,500 350,000 A 17,500
OsHteM2 LI 700,000 x200m* x50% 70,000
< 21,000
= 49,000
OsIHEM2MNELEX(Z2HFIHE)
700,000 750 m* x50% 262,500
U p= e S g | DAR- 314,500 350,000 A 35,500
= 31,350
s 283,150
402 S12t =01 & 314,500 350,000 A 35,500
= 31,350
= 283,150
02 QAT 2AMLEE(0IXTHE) 314,500 350,000 A 35,500
OL=MeASFHIXI& 10,450,000 20CH «50% 104,500
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AN sg€II=4dH
Bu: sod|elY - 22
Sel: DEIBAMLIIBES (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 31,350
2 73,150
OB+ MAB IR (2H ZIH2)
7,000,000& *60CH x50% 210,000
FTACH S CH Al ot ==& S 3t 6,500 50,000 A 43,500
< 1,950
s 4,550
402 2I2H X201 M 6,500 50,000 A 43,500
< 1,950
s 4,550
02 2IZEH 2 A EZ (OIS ) 6,500 50,000 A 43,500
OFTACH ST Ml 2t ==H S 3t AL
2,600,000& x5 2 x50% 6,500
< 1,950
s 4,550
sHSHHSLHLI XA 800,000 800,000 0
= 400,000
[ia 400,000
307 21201 A 800,000 800,000 0
= 400,000
s 400,000
02 It S AIHE L 800,000 800,000 0
OsZgdalsd MBI XNA(ZAEalS)
400,000& *2,000ha 800,000
= 400,000
s 400,000
ot/ EoisgNet2d 90,000 90,000 0
= 45,000
[ia 45,000
101 1A bl 48,832 48,104 728
= 24,416
[ia 24,416
04 JIZHHZ2Z 2RSS E S 48,832 48,104 728
O=Jt2el golls Hz =2
69,7603 x2H «350 48,832
= 24,416
s 24,416
201 Let24d] 21,744 21,720 24
= 10,872
s 10,872
1T AFR 22|l 18,720 18,720 0
O=Jt2el golls HEXE &
700,000& 1200 & 8,400
= 4,200
s 4,200
O=Jt2el daois HZE RFT =24
7,000& %3004 2,100




A sgI=HH
HE: sellaNY - 23
Sel: DEIDAMMIIBEY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,050
= 1,050
Odidlls Wz =22 M 1,000& *2,000H 2,000
= 1,000
= 1,000
OZeglyH Ed=2¢ 150,000& *63| 900
= 450
= 450
OWZ g2=x HEF2Y 100,000& x20= 2,000
= 1,000
= 1,000
Oz 2822 ¢ 200,000& x10H 2,000
= 1,000
= 1,000
Oddls oz 28 842 HE
66,000 x203] 1,320
= 660
= 660
02 Z2=2=24%4| 3,024 3,000 24
Ol 872 1,260& *40L*603] 3,024
= 1,512
= 1,512
202 04| 6,000 6,000 0
= 3,000
= 3,000
01 2L I 6,000 6,000 0
O=Jt&e gols &2 &304
20,000& *5H 52U % 123] 6,000
= 3,000
= 3,000
206 M = Hl 13,424 14,176 ANT52
= 6,712
= 6,712
01 X2 Hl 13,424 14,176 ANT5H2
Ooddis oz & %X MEs 7L
447 460 x 105 *33] 13,424
= 6,712
= 6,712
NNHAEHAG 2|8t (HEAS) 500,000 1,000,000 A 500,000
= 250,000
= 250,000
402 SI2FXHE0| & 500,000 1,000,000 A 500,000
= 250,000
= 250,000
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AN sg€II=4dH
HE: sellaNY - 23
Sel: DEIDAMMIIBEY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 500,000 1,000,000 A 500,000
OXNS&s A=)y
100,000,000& «5H £~ 500,000
< 250,000
e 250,000
A MAD| & 120,000 0 120,000
= 35,000
s 85,000
402 2I2H X201 M 120,000 0 120,000
= 35,000
s 85,000
02 QI EALEZ (OIS ) 120,000 0 120,000
ODIHE AU IS UHRA T HAI S
33,333,000& *30H 2= x70% 70,000
= 35,000
s 35,000
ODIHEALUSUR LAY (ZHIFIH2)
35,714,000 x20H 2= «70% 50,000
N SAEsALS 120,000 0 120,000
< 36,000
s 84,000
402 2I2H X201 A 120,000 0 120,000
< 36,000
[ia 84,000
02 QI E2ALEZ (01X THS) 120,000 0 120,000
OZEZKRIALLUTHEH I =R E A Y
120,000,000& *1JH 2 120,000
S 36,000
s 84,000
SR =sd&dst 9,506 13,900 A4,394
SRAEARY 9,506 13,900 A4,394
201 Let24d] 8,166 10,498 A2,332
01 At 2teltl 3,000 3,942 A942
O=gJI8edEg 7Y 250, 000& 501 23] 2,500
O=sgdENETY 50,000& x10& 500
02 2324l 5,166 6,556 A1,390
ORER=S 3503 *4001 123 168
ORedLsR 13,500& 128 162
O&=ZAEZ 10,000& =128 120
OMSALEAZ 9203 204 =120 2,208
OgeEIS 2 2,508
— o2 (8dR) 1,260& %1004 *12& 1,512
— ==Xl 80,000& x12& 960
—ANSXHM(LEEE) 36,000 «1CH 36
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AN seIIsHE

HE: sellaNY - 23
A

gel: SRAFAsEads (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 700 840 A 140
01 = LH 4 Hl 700 840 A 140
OsENEEgsF=a0H
35,0003 x1H 22 «103] 700
301 LEMZ 640 1,120 A 480
09 SALAHIX A S 640 1,120 A 480
OSHESHAZANNSL AT HATS A
8,000& 20 #43| 640
HE2L I (sEII&dH) 265,229 285,922 A 20,693
E2IH(sYIIsdH) 140,756 148,360 AT,604
olEell (SYIlsMH) 140,756 148,360 A7,604
101 14l 140,756 148,360 AT,604
01 2= 130,958 137,851 A 6,893
OAlZt 284 130,958,000 130,958
02 JIEt& 2 == 9,798 10,509 AVAR|
OYdasze3a 560,000 x1H «12& 6,720
OBALNNZA DS+
9,500 27 Al 2k 1200 & 3,078
Jl2Ztl(sgJl=s4H) 124,473 137,562 A 13,089
Jl2dul(sE 54t 69,303 74,980 N5, 677
201 24l 42,979 44,420 AT,441
01 At 22l 42,979 44,420 AT, 441
OJIEt==EHI 8,791,000& 8,791
OgadaETzgY 50,0003 »2E +x3< 300
O&E A 2el Il sl 100,000 x4 & 400
OEAMEIRAHNE 30,000& =123l 360
o=l 4,448
— Or22Z 2 X 8,000 x14F 241« 123 2,688
—542=n 8,000& 11 204 1,760
ogax=¢ 60,0003 x1&H+113& 6,780
O=&=d 60,000 »1H 365 21,900
202 O4dl 15,444 19,560 AN4,116
01 = LH 4 1 15,444 17,160 N1,716
OJl2g =30t 7,182,000 7,182
OXNEZ=0Hl 8,262,000 8,262
203 YR =&l 10,880 11,000 A 120
01 JI122E =4 4,000 4,000 0
OJIZ2Z YR8 4,000,000& 4,000
02 et =& 2,680 2,800 A 120
OIS R F= A 40,0003 +674H 2,680
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2N
2SI (sl 4H)

el

X ZH
S =

SIS dH

Jl2dtl(sdllsdd)

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
04 EAN2I LRI 4,200 4,200 0
ORN2ILRF=AHI 350,000& 128 4,200
2B (RESE D) 23,586 25,890 ~2,304
201 LBt 8,792 9,786 A 994
01 At 22l 8,792 9,786 A 994
OJIEt=EH| 5,784,000 5,784
O=&l 3,008
— OF2A2 2 X 8,000 x9H 24! x 128 1,728
—52422N 8,000& x8YH 204 1,280
202 Od4dl 11,794 13,104 A 1,310
01 24 0dl 11,794 13,104 A~ 1,310
OJIegRF& 5,670,000& 5,670
OXN&EZ=0tl 6,124,000 6,124
203 PR =&l 3,000 3,000 0
04 EAN2IHR2F=EHI 3,000 3,000 0
ORN2IYSF=AHI 250,000& »12& 3,000
=AY (0l s ) 31,584 36,692 A5,108
201 L2l 10,191 11,323 AN1,1382
01 At 22l 10,191 11,323 AN1,132
OJIEt==EHI 7,023,000 7,023
O= &l 3,168
— Or2t2 2 Xt 8,000 x9H x24I« 123 1,728
—FL22X 8,000& x9H 204 1,440
202 O4dl 16,593 20,569 A3,976
01 =2 LHAYI 14,193 15,769 AN 1,576
OJIegRF& 6,426,000 6,426
OXNEZ=0tl 7,767,000 7,767
02 M0 2,400 4,800 A 2,400
O=2XN 72X 22 M0 b 200,000& x 18 128 2,400
203 &R = Tyl 4,800 4,800 0
04 FN2ELSZ=TH| 4,800 4,800 0
ORAN2EIRFEHI 300,000& »12& 3,600
ORNSYELFTIHI(ERN L)
100,000& 122 1,200
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